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169.56 cm?
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whebA] GO ol 18.84 x 9 = 169.56( cm?) AU T
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> ®EH T 1695.6.cm?

(1) =7x7x3.14x12-2%x2x3.14x 12
— 1846.32 — 150.72 = 1695.6( cm?)




ohg QA= R g T,

2cm Adem

» E cm?

> HEH 1004.8 cm?

(6x6x3.14—-2x2x3.14) x 10
= (113.04 - 12.56) x 10
— 100.48 x 10 = 1004.8( cm?)
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[ 2
> A 217.75cm?

1
(Bylo])=5x5x3.14 x 7= 19.625( cm?)

1
(%“%LO]):(10x3.14x1—|—5x2)x10

= 178.5( cm?)
(BRol)= 19.625 x 2 + 178.5 = 217.75( cm?)
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> ®E D 139.28cm
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A715] AAZAA Aol &9 Dol A
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(ANE=e] =] Aol)

— (AR Fh)xat (F2)x2
=3132x44+7x2

=125.28+ 14

= 139.28(cm)




lecm? & Zsl= d 3mL 7} E= E4©
Q& Urtt o] E7to 2 oh e g5 9H

ThE Aoh= b BF 2 mL 7F AR = !
7 oA L. pem

—
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> & 753.6mL

(97159 dEo])=10x 3.14 x 8 = 251.2( cm?)
kA A EE B2 251.2 x 3 = 753.6(mL) YUt




1548 cm®

30x20x 12— (5x5x%x3.14x12)x6

7200 — 5652 = 1548( cm?)




